-HUWRKYS
A

= HUWRKY41 UWRKY22 UWRKY24
o HUWRKY58 Q”UWRKV?B L WRKY16 Y38 ﬁuWRKYJG HOWRKYST
[ iwrkys? |—+uwrkyso uUWRKY30 —HUWRKY15 | Huwrkyar [R_HuWRKY3
|——HUWRKY40 WWRKY74 —HUWRKY17 HUWRKY20 HUWRKY43
—HuwRKY7 —HuWRKY55
—20 |—Huwrky3a WWRI2, |_—HuwrKY72
—HuWRKY69 —HuWRKY4
bR —HuwRKY67
—40
-
| of}—wwrkyr  E
°’ =
5l 1~ 4~ T of
— 0| ©| = b | <] £
60 <t }—HuWRKY33 b= = O O O
o) = (= =4 of
= o 2| =) < ‘E,I
L o £ ] ©
£ c O
= <
—80 O
HUWRKY64 UWRKYS4
ﬁuxgivgg HUWRKY46
—HuwRKY25 UWRKYS Y56
—HuWRKY45 WRKY32
100 |_—HuwrKY71 u HUWRKY29
—HuWRKY62 [HoWRKYSS —\Huwgﬁag
HUWRKY31 ut |—+uwrkye
|—HuwRKY26 HUABKYE UWRKY50
—HuwRKY10 iR
—120 —HuWRKY42 L —HuWRKY 14 [~
HUNWRRYZD) HUWRKY23 g alds | HuWRKY44
HUWRKY39 wuwm(vn
| uwRKY12 —HUWRKY61 UWRKY53
—HuWRKY75
140 |_HuwRky21 —HuWRKY59
—HuWRKY66 [—HuWRKY68
L—160 Mb

Figure S2. Schematic representations of the chromosomal location of the HuWRKY genes. Eleven

chromosomes with varying lengths are shown in Mb (million base pair) scale in the left, the chromosome

number is shown in the middle of each chromosome.



